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Repeat Questions

Set 1

Remember To:
•	 partition the 2d number 
•	 write out the 2 questions 
•	 times the units 
•	 times the tens (Smile Multiplication) 
•	 add the answers to find the total

8 x 93 = 6 x 53 = 

2 x 38 = 1 x 25 = 

2 x 31 = 5 x 80 = 

5 x 10 = 7 x 63 = 

3 x 90 = 5 x 96 = 
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Repeat Answers

8 x 93 = 744 6 x 53 = 318

2 x 38 = 76 1 x 25 = 25

2 x 31 = 62 5 x 80 = 400

5 x 10 = 50 7 x 63 = 441

3 x 90 = 270 5 x 96 = 480

Remember To:
•	 partition the 2d number 
•	 write out the 2 questions 
•	 times the units 
•	 times the tens (Smile Multiplication) 
•	 add the answers to find the total

Set 1


